

IC-01 Principles of Insurance

Original Text in book

Chapter 11 Page no.195

Answer to Test yourself 3

Correct Answer is A.

Net Premium for the current year is ₹5400 Crores (6000+100-700). Net Premium for previous year is ₹4200 Crores. (4500+100-400).

	Net Premium for the Current Year	= 5400
Add:	Reserve for Unexpired Risks for Current Year	= 2700 (50% of 5400; all Motor)
Less:	Reserve for Unexpired Risks for Previous Year	= 2100 (50% of 4200; all Motor)
	Net Earned Premium for the Current Year	= 4800 (5400 - 2700 + 2100)

Revised text as below

Chapter11 Page no.195

Net Premium for the current year is ₹5400 Crores (6000+100-700). Net Premium for previous year is ₹4200 Crores. (4500+100-400).

	Net Premium for the Current Year	= 5400
Less:	Reserve for Unexpired Risks for Current Year	= 2700 (50% of 5400; all Motor)
Add:	Reserve for Unexpired Risks for Previous Year	= 2100 (50% of 4200; all Motor)
	Net Earned Premium for the Current Year	= 4800 (5400 - 2700 + 2100)

Original Text in book

Chapter 11 Page no.195

Answer to Test yourself 5

Correct Answer is D.

(8000+900)-(6600+200+1900)

Revised text as below

Chapter11 Page no.195

Correct Answer is **B**.

(8000+900)-(6600+200+1900)

IC-01 Principles of Insurance

Original Text in book
Chapter 11 Page no.217

खुद को जांचें के उत्तर

खुद को जांचें 3 का उत्तर

सही उत्तर A है।

वर्तमान वर्ष हेतु शुद्ध प्रीमियम रु. ₹ 5400 करोड़ $(6000+100-700)$ है। पिछले वर्ष हेतु शुद्ध प्रीमियम, ₹ 4200 करोड़ $(4500+100-400)$ है।

वर्तमान वर्ष हेतु शुद्ध प्रीमियम = 5400 करोड़

जोड़ें: वर्तमान वर्ष हेतु असमाप्त जोखिमों हेतु रिज़र्व = 2700 (5400 का 50%; सभी मोटर)

घटाएं: पिछले वर्ष हेतु असमाप्त जोखिमों हेतु रिज़र्व = 2100 (4200 का 50%; सभी मोटर)

वर्तमान वर्ष हेतु शुद्ध अर्जित प्रीमियम = 4800 $(5400 - 2700 + 2100)$

Revised text as below

Chapter11 Page no.217

खुद को जांचें 3 का उत्तर

सही उत्तर A है।

वर्तमान वर्ष हेतु शुद्ध प्रीमियम रु. ₹ 5400 करोड़ $(6000+100-700)$ है। पिछले वर्ष हेतु शुद्ध प्रीमियम, ₹ 4200 करोड़ $(4500+100-400)$ है।

वर्तमान वर्ष हेतु शुद्ध प्रीमियम = 5400 करोड़

घटाएं: वर्तमान वर्ष हेतु असमाप्त जोखिमों हेतु रिज़र्व = 2700 (5400 का 50%; सभी मोटर)

जोड़ें: पिछले वर्ष हेतु असमाप्त जोखिमों हेतु रिज़र्व = 2100 (4200 का 50%; सभी मोटर)

वर्तमान वर्ष हेतु शुद्ध अर्जित प्रीमियम = 4800 $(5400 - 2700 + 2100)$

Original Text in book
Chapter 11 Page no.217

खुद को जांचें के उत्तर

खुद को जांचें 5 का उत्तर

सही उत्तर D है।

$(8000+900)-(6600+200+1900)$

Revised text as below

Chapter11 Page no.217

खुद को जांचें 5 का उत्तर

सही उत्तर B है।

$(8000+900)-(6600+200+1900)$